Elil_l

=

MATLETKER

I %= FFr =B

WAT WELAKR2TH R
i#h £
i) B %
T = £ MERKTEERHBISE ROTHE)
w I H B

&% 54 18138 T & B # =]
fft ZE H #

(1)250AF K KPR THET —=

()R THIHBERETS —=

() LE.HHEERESFHFTISE —=
R OB X OE (4) L. EXERBREISENTFISE —=

(5) k&g, BRI RS —=

TE{fHHE 96,913,000 FH

® O O£ # 106,604,300 FMHth Nz

EEBELE 9,691,300

[R5 hE rKER)




T = & R =E
& H I f&# Al MoOoR (B HE| B O & %8
AIEE
TEMEE |#EBITE =® 1 74,769,085 | MM T EENRE
EXTE = 1 22,144,457 | ER TEENRE
(T H{HE) 96,913,000 FH &
HEMEHENEE % 10 9,691,300
Bt GRET£%8) 106,604,300

(BEE LT KER)




BT E & A RE
% H I = ] Al M A BEi | $%E| B | € %8
BHIEE
RO THET
HEE 2 1 17,200,000
St (HBRE) 17,200,000
ERIZE TP X | 1 100,000
& 2 1 21,264,484
HiEE 2 1 2,275,800
BEIE x| 1 31,886
EEEZE = 1 240,516
&% =N 1 859,543
FEEIZEE) 24,772,229
FEISE HBERBECE) =X 1 7,164,000
(Gt ERERE) 7,164,000
RIFERE Y 1 11,187,000
BEEE X | 1 219,600
H(EETEE) 18,570,600
St UEA TEREM 43,342,829
RE R E X | 1 2,542,798
(T ER{R) 63,085,627
—REEEE Y 1 11,683,458
BT (T 1fli) 74,769,085




e = =
= = L F N iR &
Z B I i& 7oAl MR |HAI|HE| OB M ® %8 ] =5
AIEE
BERE = 1 10,990,000
FEHISE
[R EEIZEE |HMHE = 1 1,011,759
HEIMEE =% 1 40,470
FiEE = 1 1,526,700
BEEIE = 1 1,168,308
BERZEE
(BWEE) = 1 13,353
RERE =% 1 354,247
HHEEISZE 4,114,837
HiEIEE |HEaREE = 1 1,290,000
FSEEE = 1 2,692,000
BAIEEE = 1 241,410
HEEIEE 4,223,410
ORI EEM) 8,338,247
ERET R E = 1 939,352
T (T EFE () 9,277,599
—REREE = 1 1,876,858
(T E i) 22,144,457

BEH LT KER]




